=1 AL, A2 10km O L|C

(o] o] ks,
Q DSt 7|78 H(X|06-052)
51| ke
[ 20254 062 032 06A| EHE | Of| 22 M4
-5 FERD S ot H -
> 7|7
O (&) STH06A]) FYSe2 LEU2 712, EAS0| 4kt2

O @Y) 2=GY)2 EFE ALe 7|2a2 Fees, R ¥ ot 5|7t L2 2, 22 = XA B OFX| & L T
-L2@e)2 B3 450 220|M SB2E 0|FsHs 117|Ye| FakS 2ot A2 HASL|Ch
ol & 2| X/ 27| 2 (O Ol S| 2M| 242 =(0) Ol e Z==2(mm)
(R3)-/22 (L) 15/ 24 (R3) 23 (LHY) 24 (=) 50|82t
> A 7|H0E
O (&3 843 2= &2 WY MY AtO| HHEO| HHE< 15kt, Z[Ciw=7tE<% 25~30kt2 ZotA| S0, S 24 X100 2
ot SRS O & E LT
AI 2 SHIS o=
azay T HECTT  #esnsea | Gooo | webim [ PooR
s 03y
06 07 08 09 10 1 12 13 14 15 16 17
‘9w & & &
SE/50E < < < <
) e e e e
(15-33) =z = =z =z e xz xz =z . xz sz =z
Hil=mz 2 00 5450 2,80 2, 50 %480 5450 e BT LB 545 T 2 HEO 2 W80
202 Eah230 Eeh230 E8230 E8230 Eer50 E¥50 Eg110 Eg110 Eer110 E110 E¥50 Egs50
ifﬁT B45 B B4 45 R B4i6 B4 B4 B B4 B4 246
03y 04y
18 19 20 21 2 23 00 o1 02 03 04 05
s 7 7 7 7 7 > > > > > > >
(15-33) =6 zxg 2z ==z ==6 =z == =z =z == == ==
EHrh S H, 80 3,850 3, 61500 H, 6150 H,HE0 I, 659 I, 659 H, U9 H, W59 I, 659 I, 659 H U9
Ai=E22 A=E2 Hi=8n H=E2 Hi=E22 I=E 20 Hi=8102
BH()Es E8230 =320 E#:230 25230 E§.230 =m0 E#.210 Zg270 =510 =m0 Z§:210 Z270
JGUST =26 z26 =) E46 EX) EE E415 E2&15 Z4115 EE E415 Z215
(kt) GUST: 28 GUST: 28 GUST: 28 GUST:28 GUST: 28 GUST: 28 GUST:28
XE5Z/ QS 2 SE 320 it HiZhE 2|0|stn, thel= kY (O '53: 4= 530 4kt S 2|0))
> ZEDIZ
OR/e=;
O HARY
X S27|4 S RO Ciet XM Argte 28 7| &8 S 0| X|(@amokmagoknOf|A] =tQleh = UL T
X AT 20| EEKE MoHS Bl FAXH S 7 HAE| IS = 0| £ 10F (TEL 032-740-2855 / FAX 032-740-2817) 2 2e{ZFA|7|
HFEFL( T




